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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 648 12.4 6.9 25 49.5 98.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


Option 2: Criminal Law and Justice

Answer two questions.

Study the text below and answer the questions based on it.

Jason was driving along a motorway when he was suddenly forced to swerve on to the hard
shoulder to avoid being hit by a van which was being driven by Brian. Furious, Jason chased
after the van and rammed it from behind. The impact of the collision caused Brian to lose
control of the van and crash into the concrete pillar of a motorway bridge, suffering serious
injuries to his head and chest. The emergency services quickly arrived on the scene, and the
air ambulance was summoned to take Brian to hospital by helicopter. Brian was placed in the
helicopter under the care of Amy, a paramedic, who administered oxygen to him throughout the
flight. However, as the helicopter was coming in to land, Brian’s condition began to deteriorate
sharply. Amy panicked, and increased the amount of oxygen that Brian was receiving. This was
the wrong thing to do under the circumstances, and Brian later died from a combination of the
injuries sustained in the accident and the excessive level of oxygen in his brain.

In the light of reported case law and other sources of law, consider whether Jason might
be criminally liable for the death of Brian. [14]

Explain the process of selecting a jury in the crown court. [11]

© WJEC CBAC Ltd. (1253-02)



Write the two digit question
number inside the boxes next Answer
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to the first line of your answer
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Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Sticky Note
This answer is quite typical of ones on homicide. The candidate has included the standard elements of homicide but the application could have been a lot stronger. It was pleasing to note that the candidate has considered the special defences. 
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number inside the boxes next Answer blank
to the first line of your answer
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Sticky Note
Again this answer is quite typical of those on the jury. The candidate has attempted to focus on the selection of the jury and has included key legal authority and has used key terms well.
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Sticky Note
A sound answer covering all aspects of murder and manslaughter with excellent use of case law to support.  
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Sticky Note
Lacking in focus on selection,particularity the eligibility criteria found in  the Criminal Justice Act 2003, with supporting legal authority and jury vetting 


Option 2: Criminal Law and Justice

Answer two questions.

Study the text below and answer the questions based on it.

Tyrone and Percy went to the cinema with Percy’s new girlfriend, Natasha. They bought hot
dogs and fizzy drinks to enjoy while watching the film. Percy wanted to be alone with Natasha,
so he asked Tyrone to sit somewhere else. Tyrone obligingly found himself a seat a few rows
behind Percy and Natasha, but after the lights had gone down he crept gradually forward again,
until he was sitting directly behind them. Tyrone waited until Percy and Natasha were absorbed
in watching the film, and then stealthily removed the sausage from his hot dog and pushed
it down the neck of Natasha's teeshirt. Natasha let out a scream, which brought one of the
security guards, Austin, running to her aid. Thinking that Percy had assaulted Natasha, Austin
dragged Percy from his seat and started punching him in the face, breaking his nose. Horrified
at the consequences of his prank, Tyrone flung his arms around Austin’s neck and attempted to
pull him away from Percy. In doing so, he applied more pressure than he intended. Austin was
unable to breathe, and suffered brain damage.

In the light of reported case law and other sources of law, consider whether Austin and
Tyrone may have committed any criminal offences. [14]

Explain the appeals process from the magistrates’ court. [11]

© WJEC CBAC Ltd. (1253-02)
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Sticky Note
Limited answer, the answer should include all appeal routes from the  magistrates court, including case stated appeals to the QBD of the High Court, and appeals to Court of Appeal and the Supreme Court .


4. Study the text below and answer the questions based on it.

Nelly was in the final year of her college course in hairdressing and beauty. With exams looming,
Nelly was anxious for an opportunity to practice her techniques. Nelly’s older sister, Bella,
worked at a beauty clinic, and she offered to smuggle Nelly into the clinic, lend her a uniform
and introduce her to clients as a trainee working under Bella’s supervision. All went well until
one of the clients, Jenna, asked Nelly to perform a common but notoriously painful procedure
using hot wax to remove unwanted body hair. Nelly inadvertently overheated the wax, with
the consequence that she caused a severe burn to Jenna’s leg which needed to be treated in
hospital.

In the light of reported case law and other sources of law, consider whether Nelly could
rely on the defence of consent if she were to be prosecuted for causing physical injury
to Jenna. [14]

Explain how the Crown Prosecution Service decides whether to bring a prosecution.
[11]

© WJEC CBAC Ltd. (1253-02)
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Sticky Note
Good application of the law to the scenario with good use of supporting legal authority throughout.
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Sticky Note
Inaccurate in places. The candidate should have explained in detail the Full Code test: for the next series it is expected that candidates will be able to explain the new public interest test ( questions)  
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Q.1

GCE LAW - PAPER LA3 (A2)

UNIT 3: UNDERSTANDING SUBSTANTIVE LAW:
FREEDOM, THE STATE AND THE INDIVIDUAL

OPTION 2: CRIMINAL LAW AND JUSTICE

Answer two guestions.

Study the text below and answer the questions based on it.

Jason was driving along a motorway when he was suddenly forced to swerve
on to the hard shoulder to avoid being hit by a van which was being driven by
Brian. Furious, Jason chased after the van and rammed it from behind. The
impact of the collision caused Brian to lose control of the van and crash into
the concrete pillar of a motorway bridge, suffering serious injuries to his head
and chest. The emergency services quickly arrived on the scene, and the air
ambulance was summoned to take Brian to hospital by helicopter. Brian was
placed in the helicopter under the care of Amy, a paramedic, who administered
oxygen to him throughout the flight. However, as the helicopter was coming in
to land, Brian's condition began to deteriorate sharply. Amy panicked, and
increased the amount of oxygen that Brian was receiving. This was the wrong
thing to do under the circumstances, and Brian later died from a combination
of the injuries sustained in the accident and the excessive level of oxygen in
his brain.

(a) In the light of reported case law and other sources of law, consider
whether Jason might be criminally liable for the death of Brian. [14]

Credit reference to:

o Elements of murder and manslaughter: actus reus and mens rea.

¢ Mens rea of murder: intention to kill or cause grievous bodily harm.

e Direct and oblique intention: Maloney, Nedrick, Woollin.

e Causation: factual and legal causation, cases such as White, Pagett,
Dalloway.

¢ Intervening acts by a third party: when sufficient to break the chain of
causation; medical intervention: Smith, Jordan, Cheshire.

¢ Voluntary manslaughter: defence of loss of control under Coroners and
Justice Act 20009.

¢ Involuntary manslaughter: unlawful act (constructive) manslaughter: need
for an unlawful and dangerous at: Franklin, Lamb.

o Possibly, gross negligence manslaughter: duty of care towards other road
users: duty of care under the neighbour principle (Donoghue v
Stevenson); grossly negligent breach carrying a risk of death: Adamako,
Mira and Srivastrava.

o Possibly, reckless manslaughter: Andrews, Lidar (not necessary to
consider this, but credit if mentioned).
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Marks

AQO3

Presents effective communication using appropriate legal terminology.
Nonetheless, there may be several errors in grammar, punctuation and spelling,
although not enough to detract from communication of meaning.

Fails to communicate and present logical argument, including inadequate use
of legal terminology. There are significant errors of grammar, punctuation and
spelling which detract from communication of meaning.

AO2

Marks

Skills

11-13

Candidates demonstrate a sound evaluation of how the law operates, or an
accurate and well-substantiated application of the law to a given factual
situation.

This is achieved through their selection of legal authorities, by appropriate
methodologies and by their ability to apply the law to a given question. They
support their conclusions by citation, analysis and analogy.

7-10

Candidates demonstrate an adequate evaluation of how the law operates, or a
generally accurate and substantiated application of the law to a given factual
situation. This is achieved through their selection of legal authorities, by
appropriate methodologies and by their ability to apply the law to a given
guestion and support their conclusions by citation, analysis and analogy.

Candidates demonstrate a limited evaluation of some of the points of how the
law operates, or apply the law to a given factual situation in a partly accurate
and occasionally unsubstantiated way. This is achieved through a limited
selection of legal authorities and limited ability to apply the law to a given
guestion.

0-2

Candidates demonstrate a basic evaluation of one of the simpler points of how
the law operates or apply the law to a given factual situation in a generally
inaccurate and unsubstantiated way. There will be little or no reference to legal
authorities and points will not be developed. There will be very limited evidence
of structure in the candidate's response.
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Q1 (b)

Explain the process of selecting a jury in the Crown Court. [11]

Credit reference to:

Mode of selection: random list of potential jurors generated by
computer at the Central Summoning Bureau from the electoral
register; summonses sent out to confirm that the individual is not a
disqualified category; jury for a particular case chosen by random
ballot; first 12 names called out are sworn in.

Qualification for jury service: 18 — 70, resident in UK for at least 5
years since 13" birthday, not within a disqualified category.

Criminal Justice Act 2003: only the over-65s and member of the
armed forces are exempt. Those who are disqualified: anyone who
has been sentenced at any time to 5 or more years imprisonment; or
in the past 10 years has served any part of a sentence of
imprisonment, or had a suspended sentence or a community order.
People who suffer from mental illness or handicap and are being
treated regularly may not serve. The judge can discharge anyone
who is not fit to serve through physical disability (blind or deaf) or does
not have sufficient understanding of English.

Summoning Officer has a discretion to excuse anyone or allow them
to defer their service to another time for good reason.

Jury vetting: routine police check to exclude those disqualified
because of a criminal record; in exceptional cases the Attorney-
General may authorise vetting of background and political views.

A jury must be random; a judge may not attempt to create a racial
balance on a jury: R v Ford.

Marks AO3
2 Presents a wholly logical and coherent argument and provides clear application
using appropriate legal terminology. This does not mean that there are no
errors in grammar, punctuation and spelling but these will only be occasional.
1 Presents a mostly logical and coherent argument and provides a reasonably

adequate application using appropriate legal terminology. Whilst there may be
errors in grammar, punctuation and spelling, these are not enough to detract
from a mostly effective communication of meaning.
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AO1

Marks

Knowledge and Understanding

8-9

Candidates display a sound knowledge and understanding of the subject
content relevant to the question and a good perception of the concepts and
principles underlying that subject content making an entirely convincing
synoptic connection with elements of knowledge gained in understanding
legal reasoning and methods and understanding legal structures and
processes. They display a sound understanding of the practical application
of the law and are aware of current debate and criticism including the major
proposals for reform.

6-7

Candidates display an adequate knowledge and understanding of the
subject content relevant to the question and have a perception of some of
the concepts and principles underlying that subject content making a
convincing synoptic connection with elements of knowledge gained in
understanding legal reasoning and methods and understanding legal
structures and processes. They display a general understanding of the
practical application of the law and are aware of aspects of current debate
and criticism.

3-5

Candidates display a limited knowledge and understanding of the subject
content relevant to the question with limited insight into some of the concepts
and principles underlying that subject content making a limited synoptic
connection with elements of knowledge gained in understanding legal
reasoning and methods and understanding structures and processes. They
display a limited understanding of the practical application of the law and are
aware in general terms of some of the current criticisms.

0-2

Candidates display a basic knowledge and understanding of the subject content
relevant to the question and/or identify some of the relevant principles. They
demonstrate occasional basic insights into some of the concepts and principles
underlying the subject content making some basic synoptic connections with
the basic elements of knowledge gained in understanding legal reasoning and
methods and understanding legal structures and processes. They display a
basic understanding of the practical application of the law.
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Q.2  Study the text below and answer the questions based on it.

Tyrone and Percy went to the cinema with Percy’s new girlfriend, Natasha.
They bought hot dogs and fizzy drinks to enjoy while watching the film Percy
wanted to be alone with Natasha, so he asked Tyrone to sit somewhere else.
Tyrone obligingly found himself a seat a few rows behind Percy and Natasha,
but after the lights had gone down he crept gradually forward again, until he
was sitting directly behind them. Tyrone waited until Percy and Natasha were
absorbed in watching the film, and then stealthily removed the sausage from
his hot dog and pushed it down the neck of Natasha’s teeshirt. Natasha let out
a scream, which brought one of the security guards, Austin, running to her aid.
Thinking that Percy had assaulted Natasha, Austin dragged Percy from his
seat and started punching him in the face, breaking his nose. Horrified at the
consequences of his prank, Tyrone flung his arms around Austin’s neck and
attempted to pull him away from Percy. In doing so, he applied more pressure
than he intended. Austin was unable to breathe, and suffered brain damage.

(a) In the light of reported case law and other sources of law, consider
whether Austin and Tyrone may have committed any criminal offences.
[14]

Credit reference to:

e Assault and battery at common law: summary offences — Criminal
Justice Act 1988, s.39.

o Offences Against the Person Act 1861: sections 47, 20 and 18.

¢ Elements of assault and battery: actus reus and mens rea.

¢ Elements of aggravated assaults under s.47, s.20 and s.18 of the
OAP Act 1861.

e Section 47: actual bodily harm — actus reus is an assault which
causes actual bodily harm, any injury calculated to interfere with the
health or comfort of the victim (Miller) — under the CPS Charging
Standards it includes temporary loss of consciousness, minor cuts and
grazes and scalds, broken bone without complications. Mens rea is
intention to commit assault/battery or recklessness. Foresight of the
degree of harm is not necessary: Roberts; Savage, Parmenter.

e Section 20: actus reus is unlawful wounding or unlawful infliction of
grievous bodily harm. GBH means serious harm: Smith. A wound
must break the inner and outer skin: C v Eisenhower. Mens rea —
intention or recklessness — D must foresee a degree of harm, but not
necessarily the degree of harm which occurred: Mowatt, Savage and
Parmenter.

e Section 18: actus reus is wounding or causing grievous bodily harm.
Mens rea required intention to wound or cause GBH, or to resist or
prevent a lawful arrest.

¢ Intoxication: Majewski; distinction between crimes of basic and
specific intention; Kingston.

o Defence of another.
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Marks

AQO3

Presents effective communication using appropriate legal terminology.
Nonetheless, there may be several errors in grammar, punctuation and spelling,
although not enough to detract from communication of meaning.

Fails to communicate and present logical argument, including inadequate use
of legal terminology. There are significant errors of grammar, punctuation and
spelling which detract from communication of meaning.

AO2

Marks

Skills

11-13

Candidates demonstrate a sound evaluation of how the law operates, or an
accurate and well-substantiated application of the law to a given factual
situation.

This is achieved through their selection of legal authorities, by appropriate
methodologies and by their ability to apply the law to a given question. They
support their conclusions by citation, analysis and analogy.

7-10

Candidates demonstrate an adequate evaluation of how the law operates, or a
generally accurate and substantiated application of the law to a given factual
situation. This is achieved through their selection of legal authorities, by
appropriate methodologies and by their ability to apply the law to a given
guestion and support their conclusions by citation, analysis and analogy.

Candidates demonstrate a limited evaluation of some of the points of how the
law operates, or apply the law to a given factual situation in a partly accurate
and occasionally unsubstantiated way. This is achieved through a limited
selection of legal authorities and limited ability to apply the law to a given
guestion.

0-2

Candidates demonstrate a basic evaluation of one of the simpler points of how
the law operates or apply the law to a given factual situation in a generally
inaccurate and unsubstantiated way. There will be little or no reference to legal
authorities and points will not be developed. There will be very limited evidence
of structure in the candidate's response.
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Q.2 (b)
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Explain the appeals process from the Magistrates’ Court. [11]

Credit reference to:

Magistrates’ court: lowest court in the hierarchy, limited powers of
sentencing, hears cases which are summary only or triable either way.
Two functions: to act as a court of summary jurisdiction determining
cases without a jury, and to send a defendant to the Crown Court
where the offence is triable only on indictment, or is triable either way
but the defendant does not plead guilty and the magistrates consider
the offence too serious for them to try.

Crown Court: has exclusive jurisdiction over all offences which are
triable only on indictment, and over triable either way offences which
are sent to them by the Magistrates’ Courts. A defendant who pleads
not guilty is tried by judge and jury. The Crown Court can pass any
sentence which is permitted by law. Another function is to sentence
persons found guilty by the magistrates but committed to the Crown
Court for sentence.

Candidates may discuss the appellate function of the Crown Court —
to hear appeals from the Magistrates’ Court.

Queen’s Bench Division of the High Court — hears appeals by way of
case stated from the Magistrates’ Court from the Crown Court where
that court has heard an appeal from the Magistrates’ Court / Also
hears claims for judicial review.

Criminal Division of the Court of Appeal: hears appeals from the
Crown Court against conviction and/or sentence. Appeals require
leave. Not a retrial: the case is conducted by argument before usually
3 judges - (but can be as many as 6 — two judges can hear appeal
against sentence). Also hears appeals by the prosecution against
rulings of the Crown Court.

Supreme Court — hears appeals on a point of law only from the
Divisional Court and Court of Appeal. Leave is always required.
Appeals require the court below to certify that a point of law of public
importance is involved.

The Constitutional Reform Act 2005 Part 3 replaced the former House
of Lords with the Supreme Court. The Supreme Court consists of a
President, a Deputy President and 10 Justices of the Supreme Court.
Cases are heard by an uneven number of judges (at least 3) of whom
at least half must be permanent and not acting judges.
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Marks

AQO3

Presents a wholly logical and coherent argument and provides clear application
using appropriate legal terminology. This does not mean that there are no
errors in grammar, punctuation and spelling but these will only be occasional.

Presents a mostly logical and coherent argument and provides a reasonably
adequate application using appropriate legal terminology. Whilst there may be
errors in grammar, punctuation and spelling, these are not enough to detract
from a mostly effective communication of meaning.

AO1

Marks

Knowledge and Understanding

8-9

Candidates display a sound knowledge and understanding of the subject
content relevant to the question and a good perception of the concepts and
principles underlying that subject content making an entirely convincing
synoptic connection with elements of knowledge gained in understanding
legal reasoning and methods and understanding legal structures and
processes. They display a sound understanding of the practical application
of the law and are aware of current debate and criticism including the major
proposals for reform.

6-7

Candidates display an adequate knowledge and understanding of the
subject content relevant to the question and have a perception of some of
the concepts and principles underlying that subject content making a
convincing synoptic connection with elements of knowledge gained in
understanding legal reasoning and methods and understanding legal
structures and processes. They display a general understanding of the
practical application of the law and are aware of aspects of current debate
and criticism.

3-5

Candidates display a limited knowledge and understanding of the subject
content relevant to the question with limited insight into some of the concepts
and principles underlying that subject content making a limited synoptic
connection with elements of knowledge gained in understanding legal
reasoning and methods and understanding structures and processes. They
display a limited understanding of the practical application of the law and are
aware in general terms of some of the current criticisms.

0-2

Candidates display a basic knowledge and understanding of the subject content
relevant to the question and/or identify some of the relevant principles. They
demonstrate occasional basic insights into some of the concepts and principles
underlying the subject content making some basic synoptic connections with
the basic elements of knowledge gained in understanding legal reasoning and
methods and understanding legal structures and processes. They display a
basic understanding of the practical application of the law.
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Q.4  Study the text below and answer the questions based on it.

Nelly was in the final year of her college course in hairdressing and beauty.
With exams looming, Nelly was anxious for an opportunity to practice her
techniques. Nelly’s older sister, Bella, worked at a beauty clinic, and she
offered to smuggle Nelly into the clinic, lend her a uniform and introduce her to
clients as a trainee working under Bella’s supervision. All went well until one
of the clients, Jenna, asked Nelly to perform a common but notoriously painful
procedure using hot wax to remove unwanted body hair. Nelly inadvertently
overheated the wax, with the consequence that she caused a severe burn to
Jenna’s leg which needed to be treated in hospital.

(a) In the light of reported case law and other sources of law, consider
whether Nelly could rely on the defence of consent if she were to be
prosecuted for causing physical injury to Jenna. [14]

Credit reference to:

e Consentis a common law defence developed through case law — as a
general principle, consent is usually only accepted as a defence to
minor assault and battery which does not reach the degree of harm
needed for the offence of assault occasioning actual bodily harm
contrary to the Offences Against the Person Act 1861, s.47, i.e. injury
which interferes with the health and comfort of the victim (Miller) and is
more than transient or trifling (Chan Fook).

e Cases where consent is accepted as a defence to more serious
harms: A — G’s Ref. (No. 6 of 1980) — activity permitted on a basis of
public policy for their social usefulness — lawfully conducted sports,
rough horseplay, tattooing, ear-piercing, surgery, non-violent sexual
relations. Would cover normal range of socially accepted beauty
treatments.

e Consent must be informed consent: not vitiated by duress or
deception.

o Deception may be as to the nature of act or the identity of the
defendant — here, the deception if any would relate to identity, as Nelly
is pretending to be a trainee of the salon.

e Cases involving deception: Bolduc and Bird, Tabassum, Richardson —
the courts seem to take the view that there is no deception as to
identity where D has the qualifications she claims, even if the victim is
deceived as to other circumstances.
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Marks

AQO3

Presents effective communication using appropriate legal terminology.
Nonetheless, there may be several errors in grammar, punctuation and spelling,
although not enough to detract from communication of meaning.

Fails to communicate and present logical argument, including inadequate use
of legal terminology. There are significant errors of grammar, punctuation and
spelling which detract from communication of meaning.

AO2

Marks

Skills

11-13

Candidates demonstrate a sound evaluation of how the law operates, or an
accurate and well-substantiated application of the law to a given factual
situation.

This is achieved through their selection of legal authorities, by appropriate
methodologies and by their ability to apply the law to a given question. They
support their conclusions by citation, analysis and analogy.

7-10

Candidates demonstrate an adequate evaluation of how the law operates, or a
generally accurate and substantiated application of the law to a given factual
situation. This is achieved through their selection of legal authorities, by
appropriate methodologies and by their ability to apply the law to a given
guestion and support their conclusions by citation, analysis and analogy.

Candidates demonstrate a limited evaluation of some of the points of how the
law operates, or apply the law to a given factual situation in a partly accurate
and occasionally unsubstantiated way. This is achieved through a limited
selection of legal authorities and limited ability to apply the law to a given
guestion.

0-2

Candidates demonstrate a basic evaluation of one of the simpler points of how
the law operates or apply the law to a given factual situation in a generally
inaccurate and unsubstantiated way. There will be little or no reference to legal
authorities and points will not be developed. There will be very limited evidence
of structure in the candidate's response.
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Q.4 (b)
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Explain how the Crown Prosecution Service decides whether to bring a
prosecution. [11]

Credit reference to:

The decision whether to prosecute is made using the “Full Code Test”
contained in the Code for Crown Prosecutors, used by the Director of
Public Prosecutions under s.10 of the Prosecution of Offences Act
1985. This is currently the 6™ edition, issued February 2010.

This consists of two tests, the evidential test and the public interest
test, which must be applied in that order. It the evidential test is not
passed, then the case should not be proceeded with at that time. If
the evidential test is passed, the Crown Prosecutor should go on to
consider the public interest test. Only if both tests are passed should
proceedings be brought.

Evidential test — is there a realistic prospect of conviction, i.e. would a
court be more likely than not to convict. The CP must consider both
issues: can the evidence be used in court, and is it reliable.

Whether evidence can be used in court — is it likely to be excluded
because of the way it was obtained; is it hearsay; does it relate to the
bad character of the accused?

Whether evidence is reliable — is it consistent with an innocent
explanation; are there doubts about he reliability of a confession; is
the identity of the suspect likely to be questioned; are there doubts
about the reliability of any witnesses; does a witness have any ulterior
motive; does a witness have convictions which cast doubt on his/her
reliability; is there a need to gather more evidence?

If it would be helpful in assessing a witness’s reliability, an
appropriately trained Crown Prosecutor may conduct a pre-trial
interview with the witness.

Public interest test — it will usually be in the public interest to prosecute
unless the prosecutor is satisfied that the public interest is better
served by not bringing a prosecution or by offering an out-of-court
disposal.

Examples of factors tending in favour of prosecution: e.g. offence
likely to result in a significant sentence; committed with a weapon;
committed by a group; committee against someone serving the public;
committed against a vulnerable person; the accused’s previous
record, etc.

Factors tending against prosecution: sentence likely to be small;
prosecution would have a bad effect on the victim; offence was the
result of a genuine mistake; accused has made reparation; accused
suffers from significant physical or mental ill-health, etc.

The prosecutor may take account of the views of the victim and
his/her family. However, the prosecutor does not act for the victim or
his/her family, and must form an overall view of the case.
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Marks

AQO3

Presents a wholly logical and coherent argument and provides clear application
using appropriate legal terminology. This does not mean that there are no
errors in grammar, punctuation and spelling but these will only be occasional.

Presents a mostly logical and coherent argument and provides a reasonably
adequate application using appropriate legal terminology. Whilst there may be
errors in grammar, punctuation and spelling, these are not enough to detract
from a mostly effective communication of meaning.

AO1

Marks

Knowledge and Understanding

8-9

Candidates display a sound knowledge and understanding of the subject
content relevant to the question and a good perception of the concepts and
principles underlying that subject content making an entirely convincing
synoptic connection with elements of knowledge gained in understanding
legal reasoning and methods and understanding legal structures and
processes. They display a sound understanding of the practical application
of the law and are aware of current debate and criticism including the major
proposals for reform.

6-7

Candidates display an adequate knowledge and understanding of the
subject content relevant to the question and have a perception of some of
the concepts and principles underlying that subject content making a
convincing synoptic connection with elements of knowledge gained in
understanding legal reasoning and methods and understanding legal
structures and processes. They display a general understanding of the
practical application of the law and are aware of aspects of current debate
and criticism.

3-5

Candidates display a limited knowledge and understanding of the subject
content relevant to the question with limited insight into some of the concepts
and principles underlying that subject content making a limited synoptic
connection with elements of knowledge gained in understanding legal
reasoning and methods and understanding structures and processes. They
display a limited understanding of the practical application of the law and are
aware in general terms of some of the current criticisms.

0-2

Candidates display a basic knowledge and understanding of the subject content
relevant to the question and/or identify some of the relevant principles. They
demonstrate occasional basic insights into some of the concepts and principles
underlying the subject content making some basic synoptic connections with
the basic elements of knowledge gained in understanding legal reasoning and
methods and understanding legal structures and processes. They display a
basic understanding of the practical application of the law.
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